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questions, questions
• Why did the UK under-perform during the Golden Age?
• To what extent did it catch-up in the 1980s?
• How important were sectoral shifts and FDI?
• Has the New Economy made a difference yet?
• What are the five drivers?
• What has happened to the regions?



recap: technology and TFP
• Growth of output = weighted growth of inputs + growth of total

factor productivity
• Growth of total factor productivity = growth of labour productivity -

weighted growth of capital per worker
• Growth of inputs

• Capital and labour
• Materials and energy

• TFP is a macroeconomic measure of the level of technology.
• TFP rises due to innovation:

• Higher quality products
• New products
• Better ways to use existing inputs



under-performance in the Golden Age



the Broadberry-Crafts view
• The UK could not have grown as fast as Germany and

France in the Golden Age since it had fewer catch-up
opportunities and less scope to move labour out of
farming.

• Nevertheless, growth was lower than it could have been by
about 1 per cent a year.

• This was due to poor supply-side policies, such as
corporatism, the failure of industrial relations, lack of
competition, and only modest increases in the supply of
highly trained and educated workers.



slowdown in the ’70s, speedup in the ’80s
• In common with most other OECD economies, manufacturing TFP

growth in the UK slowed in the 1970s (from about 2½ per cent per
annum in the 1960s to about 0.2 per cent per annum between 1973 and
1979).

• UK manufacturing TFP experienced an increase in growth in the
1980s, attaining a growth rate of about 3 per cent per annum.

• Two possible explanations for the slowdown and speedup:
• Mismeasurement: Capital Scrapping; Labour Hoarding; Single Deflation

Bias.
• Structural Change: Institutional Rigidities and Strong Unions in the 1970s

followed in the 1980s by weakening of trade union power, withdrawal of
state-subsidies, shedding of below average plants, increased subcontracting
and catch-up to international best practice, along with foreign direct
investment.



UK manufacturing growth decomposed
 
 

1960q1-73q1 1973q1-79q2 1979q2-90q2 1990q2-95q3 1960q1-95q3 

Decomposition of Y/L     
Y/L 4.20% 1.50% 4.62% 3.46% 3.75% 
TFP 2.58% 0.15% 3.03% 2.20% 2.23% 
K/L 1.62% 1.35% 1.59% 1.26% 1.51% 
      
Decomposition of TFP     
TFP 2.58% 0.15% 3.03% 2.20% 2.23% 
Biases 0.12% -1.16% 0.33% 0.50% 0.02% 
Cycle -0.81% 0.11% -0.11% 0.03% -0.31% 
Trends 3.04% 1.88% 2.75% 2.56% 2.67% 
Other* 0.23% -0.67% -0.06% -0.88% -0.15% 
      
Decomposition of Trends     
Trends 3.04% 1.88% 2.75% 2.56% 2.67% 
SKILL 0.52% 0.34% 0.29% 0.22% 0.37% 
UNION -0.11% -0.06% 0.25% 0.06% 0.04% 
R&D 0.92% -0.11% 0.50% 0.55% 0.55% 
Other+ 1.72% 1.72% 1.72% 1.72% 1.72% 
Notes: 
May not sum exactly due to rounding.  These estimates are based on the parameters in regression (1). SKILL is 
the ratio of administrative, technical and clerical staff to total workers.  UNION is the proportion of full-time 
manual males covered by collective agreements.  R&D is the ratio of the stock of industry-funded Business 
Enterprise spending on R&D (BERD) to the physical capital stock.  % change in labour productivity = % 
change in TFP + % change in the contribution of the capital to labour ratio. 
* Includes the residual plus seasonal factors. 
+ This is the effect of the base trend. 



Log Total Factor Productivity in UK Manufacturing - 
Actual, Trend, Bias, and Cycle
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Source: HM Treasury Productivity in the UK, 2000.



Source: HM Treasury Productivity in the UK, 2000.



Source: HM Treasury Productivity in the UK, 2000 and DTI The Innovation Challenge, 2003.



UK TFP relative to the USA
Industry RTFP70 RTFP90 ∆RTFP70-90 ∆RTFP70-79 ∆RTFP80-89 
Food & Drink 68.4 56.1 -1.00 -0.73 -1.12 
Textiles & Clothes 51.6 58.9 0.66 0.23 1.07 
Wood Products 51.8 54.5 0.25 0.28 -0.23 
Paper & Printing 39.5 48.7 1.04 -0.31 2.21 
Minerals 76.1 76.9 0.05 -0.69 1.56 
Chemicals 49.4 64.0 1.30 1.88 1.42 
Rubber & Plastic 74.2 90.5 1.00 0.10 1.84 
Primary Metals 49.7 73.3 1.94 4.27 9.43 
Metal Products 41.0 60.2 1.93 2.20 1.53 
Machinery 79.5 75.3 -0.27 -0.16 0.04 
Electricals 58.9 56.2 -0.24 -0.74 0.36 
Transport Equip. 44.8 73.3 2.46 0.42 4.54 
Instruments 62.1 76.6 1.05 1.65 0.57 
Other Manufacturing 39.8 48.5 0.98 2.29 0.36 
      
Average 56.2 65.2 0.80 0.15 1.68 
Source: Cameron, Proudman and Redding (1999) ‘Productivity Growth, Convergence and Trade in a Panel of 
Manufacturing Industries’, CEP Discussion Paper 428. 



structural change
Shares of Sectors in UK Output 

 
Sector Share in Gross Output Share in Value Added 
 1979 1990 1979 1990 
Primary 0.17 0.19 0.16 0.13 
High Tech Manufacturing 0.17 0.15 0.13 0.11 
Other Manufacturing 0.23 0.16 0.12 0.10 
Fin Services 0.06 0.16 0.07 0.15 
Trade Services 0.06 0.05 0.05 0.06 
Non-Trade Services 0.32 0.30 0.46 0.45 
 
Sector Share in export value added Share in export gross output 
 1979 1990 1979 1990 
Primary 0.16 0.10 0.13 0.13 
High Tech Manufacturing 0.27 0.31 0.30 0.33 
Other Manufacturing 0.18 0.18 0.28 0.22 
Fin Services 0.08 0.15 0.05 0.13 
Trade Services 0.09 0.08 0.09 0.06 
Non-Trade Services 0.23 0.19 0.15 0.13 
 
Sector Share in  employment  
 1979 1990  
Primary 0.10 0.09  
High Tech Manufacturing 0.15 0.13  
Other Manufacturing 0.13 0.11  
Fin Services 0.09 0.16  
Trade Services 0.05 0.05  
Non-Trade Services 0.47 0.48  
Source: Mary Gregory and Christine Greenhalgh, “International Trade, Deindustrialization and Labour 
Demand - An Input-Output Study for the UK 1979-90,” (Oxford: Institute of Economics and Statistics 
Leverhulme Discussion Paper No. 1, May 1996). 



shift-share analysis

• Growth can be decomposed into two components: ‘within’ and ‘between’.  The ‘within’
component shows how much is due to the growth in productivity within individual
sectors of the economy; the ‘between’ component shows how much is due to movements
of labour and capital between sectors of the economy.

Shares of total growth 
 

Between Within Total 
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Source: Gavin Cameron, James Proudman, and Stephen Redding, ‘Deconstructing Growth in UK 
Manufacturing,’ (London: Bank of England Working Paper 73, 1997). 



the share of FDI

 Value Added Investment Employment Relative Labour 
Productivity 

1981 18.3 25.5 14.8 1.28 
1983 18.6 23.1 14.5 1.35 
1984 19.3 20.4 14.2 1.45 
1985 18.1 21.1 13.6 1.41 
1986 17.0 19.7 12.7 1.40 
1987 17.9 20.4 12.8 1.49 
1988 17.8 20.8 12.9 1.46 
1989 20.6 26.7 14.6 1.51 
1990 21.7 26.9 16.0 1.45 
1991 21.6 33.4 17.1 1.34 
1992 23.4 31.6 18.1 1.38 
Source: Office of National Statistics, Census of Production (London: ONS, various years). 



the effects of FDI
• Between 1983 and 1990, the share of foreign-owned enterprises (FOEs)  in UK

manufacturing rose from 19 per cent to 22 per cent.  In 1983, FOEs had a 35 per cent
labour productivity advantage, rising to 45 per cent in 1990.

• However, FOEs tended to be located in high productivity sectors.  If they had the same
employment mix as UK firms, they would have been 24 per cent more productive in
1983, rising to 31 per cent in 1990.

• Nick Oulton (1997) argues that once you take into account the higher capital intensity
and higher skilled workers in FOEs there is no significant difference in TFP between
FOEs and UK firms (except for US owned firms which have a TFP advantage of about
10 per cent).

• Very little of the productivity growth in the 1980s was due to the shift towards foreign-
ownership.  Between 1981 and 1991, real labour productivity rose by 3.7% p.a. on
average, with 3.63% p.a. accounted for by within sector growth and only 0.06% p.a.
accounted for by employment shifts to FOEs.

• The idea that FDI is caused by differences in technology also has trouble explaining why
the UK is a massive outward investor.  In the 1990s, both inward and outward direct
investment averaged about 1.1 per cent of UK GDP.



the dog that didn’t bark

USA UK
1995-9 over 1990-5 1994-8 over 1989-94

Growth of output per hour +1.04 -1.54
Growth of output +2.07 +1.73
Contributions from

ICT capital +0.45 +0.24
Other capital +0.03 -1.02
TFP plus labour-force quality +0.55 -0.76

Memorandum items
ICT income share (% GDP) +1.00 +1.48
Growth rates of inputs

Computers +18.40 +9.78
Software +0.30 -5.20
Telecoms +3.60 4.86

Source: Oulton, OXREP, 2002



the five drivers

Source: HM Treasury Productivity in the UK, 2001.



progress?

Source: HM Treasury Productivity in the UK, 2001.



regional puzzles
• Both unemployment and non-employment in Great Britain

fell steadily after 1993.  But there was a dramatic rise in the
regional dispersion of non-employment rates, back to its
1974 and 1985 peak levels; there was no such rise in the
regional dispersion of unemployment rates.

• In the 1980s, the income gaps between the South East and
the rest of Britain grew considerably.  The gap remained
fairly large throughout the 1990s, and may have risen again
in the past couple of years.



Log Ratios of South East to GB earnings per capita
for different measures of earnings
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Sigma Convergence in GB regions
for different measures of earnings
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Standard Deviation of Unemployment and Non-employment
in Great Britain
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possible explanations
• The labour market and the housing market

• Earnings, bargaining and the tax & benefit system;
• Commuting, migration, and job migration;
• Interest rates and mortgage debt; house prices; tenure.

• Regional industrial structure
• Banking and production industries exposed to different shocks:

financial liberalisation, world trade, real exchange rates, interest
rates;

• Part-time working, and new working practices (ICT, call centres).



regional performance
• In short, the 1990s were particularly kind to the South, with its large financial

services sector, because of financial liberalisation, rising house prices, and the
beneficial effect of low interest rates on a highly indebted region.

• In contrast, the rising real exchange rate was much worse for the North, with
its large production sector.

• Naturally, economic forces such as migration, commuting, and wage flexibility
will tend to operate against large employment differentials.  One important
channel in the results is the effect of high house prices in encouraging the
movement of jobs and people.

• Nonetheless, the large and significant equilibrium correction term in the results
suggests that regions are usually quite close to their steady-states.  Therefore,
the outperformance of the South is unlikely to be reversed except by a relative
decline in the fortunes of the financial services industry, and a decline in the
real exchange rate.



summary
• In the long-run, living standards are driven by improvements in

technology.  Five important factors in driving technology are
innovation, competition, investment, skills and entrepreneurship.

• About half of the UK ‘productivity miracle’ in the 1980s was due to
mis-measurement and about half was due to an improvement in the
supply-side of the economy.

• Very little of this improvement was due to the effect of foreign direct
investment, and surprisingly little was due to the changes in the relative
sizes of different sectors of the economy.  There is not much sign of a
new economy effect on productivity in the UK as yet.

• UK GDP per capita is roughly the same as that of France and
Germany, despite productivity being lower.  The UK is able to do this
by working longer hours and having a higher employment rate.  French
and Germany productivity is higher partly due to higher investment
and partly due to better technology.
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